2 FHF

TILRIAZ=FH VBER

Internal construction of Male Elbow

WA —-WVAT I VART Y

N=JAZ=AViEER

Internal construction of Male Connector

w =)= POz
g T JJO' FrvomiLy— Chuck Outer ring
Chuck Outer ring S T Roeo B
- ~ ; wEsalles
FvIRILT— 7‘nyU./ﬁA JOvEY Pusr o A
C['luck holder Push ring A Pack'"g FwyaUvgB
AVE % Twial )98 Bod Push ring B
Packing Push ring B . Fa—J
s Fa—7 M ke
Body Tube R
4 LEXE
Retainer
SRR =N
Nipple stopper "\

—w
Nipple

(E!mﬁﬂ“ Main part materialsj
£ i Name £5 Material

= {& Body SUS 316
/N w F > Packing JN\A N>/ Viton
F 4w I 7K 4 — Chuck holder SUS 316
F ¥ v U chuk SUS 301
P D8 —U 2 outer ring SUS 316
7‘3:/:LU./9A Push ring A SUS 316
Twaly B Pushring B SUS 316
0O YU "2 “Zorm JXA K2/ viton
1E & B Retainer SuS
ZwFIVA N W /X— Nipple stopper SUS 316
= w 77 U Nipple SUS 316

TO L« rixX



R(PT) HEX M HEX
| [PE=A

LA | A
1 L
Ms5% 17
Type M5
BRF-TRES B W R Y BINE
ﬂppga%hbn w"ncm.:n'“ % o ND: HEX L A B ﬂtﬂmu:a
M5x0.8 | USH-045M 10 20.5 4 15 2.5
4 4 041 10 21 8 15 2.5
A 042 14 19.5 11 15 2.5
M5 0.8 065M 12 23.5 4 16.5 2.5
6 A 061 12 23 8 16.5 4
Va 062 14 22.5 11 16.5 4
34 063 17 21 12 16.5 4
4 081 14 27.5 8 17.5 6
8 Va 082 14 26.5 11 17.5 6
A 083 17 22 12 17.5 6
Va 102 1, 29.5 11 20 8
10 34 103 7 28.5 12 20 8
4 104 22 26.5 15 20 8
12 3% 123 19 30.5 12 21 10
% 124 22 30 15 21 10

M
M55+ 7
: Type M5
- -
b m%ma{u %mg HEX | Li [ip o [ B c ﬁ@mmf
M5x0.8 | USL-045M | 12 | 225 | 17.5 4 | 15 12 2.5
4 ) 041 12 285 [EHs 8 | 15 12 2.5
4 042 i e s e 15 12 2.5
M5 % 0.8 065M | 12 | 235 | 20 4 | 16,5 | 12 4
6 8 061 12 | 25.5 | 20 8 | 16.5 12 4
14 062 14 | 28.5 | 20 11 16.5 12 4
34 063 17 | 29.5 | 20 12 | 16,5 | 12 4
iz 081 14 | 26.5 | 22 gl e 5
8 Va 082 14 | 295 | 22 o |5 14 6
38 083 i o 125 s 14 6
Va 102 A e R 17 8
10 34 103 T K 255 | 12 | 20 17 8
15 104 22 | 36 255 | 15 | 20 17 8
12 34 123 s TG e 22 10
Iz 124 po|igrs|i2rsal nis 2 22 10

TO L rIx



[ a1

Py _J:

el

| I

= (&)

1 s

] 5 ” BORE
Applied tube O,D, Part No, Minimum Opening

4 USF-040 18 15 12 2.5
6 060 20.5 16.5 12 4
8 080 22.5 17.5 14 6
10 100 26 20 17 8
12 120 28 | 21 22 10

TE1=7>/ T Type Union

L & = B AE
Applied tube O.D. Part No, Minimum Opening
4 UST-040 18 15 12 2.5
6 060 20.5 16.5 12 4
8 080 22.5 17.5 14 6
10 100 26 20 17 8
12 120 28 21 22 10

TOTL«rix



T]
Ll
|
|
1

1

A 11
4
L = = B R E
Applied tube O.D. Part No, Minimum Opening
4 USS-040 32 15 10 2.
6 060 35 16.5 12 4
8 080 37 175 14 6
10 100 42 20 17 8
12 120 44 21 20 10

NIV A\ YR L=A > Bulkhead Union

< BAE
et | Trmie ™ b | bt | B | E (R e | MXP
4 USX-040 14 31.5| 15 4 13 25 | M12x1.0
6 060 17 34.5 | 16.5 6 15 4 M14 X1.0
8 080 19 S5 lilE 9 17 6 M16X1.0
10 100 23 42.5 | 20 11.5 21 8 M20x1.0
12 120 26 445 | 21 11.5 23 10 M22 X1.0

TO L+ rIxX



